ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: FEBRUARY 21, 2024 AT 2:00 PM

CONTRACT ID: 12112200

WBS ELEMENT NO.: 13RE.101135, 13RE.101115, 13RE.101125, 13RE.201115, 13RE.201125

FEDERAL AID NO.: STATE FUNDED

N/A

COUNTY: BUNCOMBE

TIP NO.:

MILES: N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

ATER KOAD 7020 ADDRESS OF BIDDER

Contract Number:	12112200
TIP Number:	N/A
FA Number:	State Funded
WBS Element:	13RE.101115, 13RE.101125, 13RE.101135, 13RE.201115, 13RE.201125
Description:	Long Arm Mowing Upon Request
County:	Buncombe

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid	
1	SP	Long Arm Mowing with Truck Mounted Attenuator - Interstate Routes	101	SMI	320.00	32,320.00	ſ
2	SP	Long Arm Mowing with Truck Mounted Attenuator - Divided Primary Routes	100	SMI	320.00	32,000.0	0
3	SP	Long Arm Mowing - Undivided Primary Routes	230	SMI	340.00	78,200.0	о
4	SP	Long Arm Mowing - Secondary Routes	825			243,375.	1

TOTAL BID FOR PROJECT: \$ 385,895.00

Contractor: MER MOWING INC
Address: 5201 CRATER ROAD HAMPTONVILLE NC 27020
Phone: 336 244 5293 Federal Id: 81 1677 064
Contractor's License Number:
Authorized Agent: MARTY LEE CRATER Title: PRESIDENT
Signature: I lo Ree Crant Date: 2/6/24

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: FEBRUARY 21, 2024 AT 2:00 PM

CONTRACT ID: 12112200

WBS ELEMENT NO.: 13RE.101135, 13RE.101115, 13RE.101125, 13RE.201115, 13RE.201125

FEDERAL AID NO.: STATE FUNDED

N/A

N/A

COUNTY: BUNCOMBE

TIP NO.:

MILES:

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADW.	AY PROJECT.			BID BO	ND IS NOT REQUIRED.
Jonathan	Boyall	DBA	RC	Precision	Mowing
NAME OF BIDDER	11/2			N Com	~ > -
2521 Hud	son DR	Yad	Kinvill	le NC	27055
ADDRESS OF BIDD	ER		1 1 1	1 Martin and and and and and and and and and an	

Contract Number:	12112200
TIP Number:	N/A
FA Number:	State Funded
WBS Element:	13RE.101115, 13RE.101125, 13RE.101135, 13RE.201115, 13RE.201125
Description:	Long Arm Mowing Upon Request
County:	Buncombe
WBS Element: Description:	13RE.101115, 13RE.101125, 13RE.101135, 13RE.201115, 13RE.201125 Long Arm Mowing Upon Request

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid	
1	SP	Long Arm Mowing with Truck Mounted Attenuator - Interstate Routes	101	SMI	330.00	33,330.00	ļ
2	SP	Long Arm Mowing with Truck Mounted Attenuator - Divided Primary Routes	100	SMI	355.00	35,500.00	
3	SP	Long Arm Mowing - Undivided Primary Routes	230	and the second second		81,650.00	
4	SP	Long Arm Mowing - Secondary Routes	825	SMI	300.00	247,500.	90
	Note resident de Dava						

TOTAL BID FOR PROJECT: \$ 397.980.00

Contractor: Jonathan Royall DBA RC Precision Mowing Yadhinville 27055 Hudson DR Address: 2521 NC Federal Id: 56-2397549 Phone: 336-466-5080 Contractor's License Number: Jonathan M Royall Owner Title: Authorized Agent: Royall Date: Signature: (mathan

<u>REQUIRED</u>: List all equipment intended for use on this project and return with the bid package.

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: FEBRUARY 21, 2024 AT 2:00 PM

CONTRACT ID: 12112200

WBS ELEMENT NO.: 13RE.101135, 13RE.101115, 13RE.101125, 13RE.201115, 13RE.201125

FEDERAL AID NO.: STATE FUNDED

N/A

N/A

COUNTY: BUNCOMBE

TIP NO.:

MILES:

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT. **BID BOND IS NOT REQUIRED.** NAME OF BIDDER ADDRESS OF BIDDER

Contract Number:	12112200
TIP Number:	N/A
FA Number:	State Funded
WBS Element:	13RE.101115, 13RE.101125, 13RE.101135, 13RE.201115, 13RE.201125
Description:	Long Arm Mowing Upon Request
County:	Buncombe

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Attenuator - Interstate Routes	101	SMI	35D	3535D
2	SP	Long Arm Mowing with Truck Mounted Attenuator - Divided Primary Routes	100	SMI	350	35000
3	SP	Long Arm Mowing - Undivided Primary Routes	230	SMI	350	80500
4	SP	Long Arm Mowing - Secondary Routes	825	SMI	350	28875D

TOTAL BID FOR PROJECT: \$4396DD
Contractor: <u>Little is Enterprise LLC</u> Address: <u>P.O. BOX ~ 1527 Forest City NC 28043</u> Phone: <u>828 - 429 - 5722</u> Federal Id: <u>46 - 2997143</u>
Contractor's License Number:
Authorized Agent: JAMes CAMP Title: Managing Member Signature: Jelmos Camp Date: Z-20-24

ORIGINAL

STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION HIGHWAY DIVISION 13

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: FEBRUARY 21, 2024 AT 2:00 PM

CONTRACT ID: 12112200

WBS ELEMENT NO.: 13RE.101135, 13RE.101115, 13RE.101125, 13RE.201115, 13RE.201125

FEDERAL AID NO.: STATE FUNDED

COUNTY: BUNCOMBE

TIP NO.: N/A

MILES: N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Precision Lawn Care and Landscaping Inc. Type text here

NAME OF BIDDER

5118 Country Lane Grifton, NC 28530

Contract Number:	12112200
TIP Number:	N/A
FA Number:	State Funded
WBS Element:	13RE.101115, 13RE.101125, 13RE.101135, 13RE.201115, 13RE.201125
Description:	Long Arm Mowing Upon Request
County:	Buncombe

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Attenuator - Interstate Routes	101	SMI	450.00	45,450.00
2	SP	Long Arm Mowing with Truck Mounted Attenuator - Divided Primary Routes	100	SMI	450.00	45,000.00
3	SP	Long Arm Mowing - Undivided Primary Routes	230	SMI	360.00	82,800.00
4	SP	Long Arm Mowing - Secondary Routes	825	SMI	360.00	297,000.00

TOTAL BID FOR PROJECT: \$470,250.00

Contractor: Precision Lawn Care and Landscaping Inc.

Address: 518 Country Lane Grifton, NC 28530

Phone: 252-746-2202

Federal Id: 20-1503493

Contractor's License Number: N/A

Authorized Agent: David Rogerson

Title: President

Signature: ____

Date: 2-16-2024

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: FEBRUARY 21, 2024 AT 2:00 PM

CONTRACT ID: 12112200

WBS ELEMENT NO.: 13RE.101135, 13RE.101115, 13RE.101125, 13RE.201115, 13RE.201125

FEDERAL AID NO.: STATE FUNDED

N/A

COUNTY: BUNCOMBE

TIP NO.: N/A

MILES:

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS	S A	ROADW	AY	PROJECT.
---------	-----	-------	----	----------

BID BOND IS NOT REQUIRED.

in the second	1000	The second second	
Dixie	Lawn	Service,	Inc.

NAME OF BIDDER

PO Box 688 Kings Mountain, NC 28086

Contract Number:	12112200
TIP Number:	N/A
FA Number:	State Funded
WBS Element:	13RE.101115, 13RE.101125, 13RE.101135, 13RE.201115, 13RE.201125
Description:	Long Arm Mowing Upon Request
County:	Buncombe

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Attenuator - Interstate Routes	101	SMI	475.00	47,975.00
2	SP	Long Arm Mowing with Truck Mounted Attenuator - Divided Primary Routes	100	SMI		45,000.00
3	SP	Long Arm Mowing - Undivided Primary Routes	230	SMI		88,550.00
4	SP	Long Arm Mowing - Secondary Routes	825	SMI		301,125.00

TOTAL BID FOR PROJECT: 482,650.00

Contractor:	Dixie Lawn	Service, Inc.			
Address:	PO Box 688	Kings Mountain	, NC 28086		
Phone: <u>704-</u>	-259-6125	H	Federal Id:	56-1342166	
Contractor's L	icense Numbe	r:			
Authorized Ag	cont: James	M McHenry Jr.		Title:	President
Signature:	X	-		Date:	02/15/2024

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: FEBRUARY 21, 2024 AT 2:00 PM

CONTRACT ID: 12112200

WBS ELEMENT NO.: 13RE.101135, 13RE.101115, 13RE.101125, 13RE.201115, 13RE.201125

FEDERAL AID NO.: STATE FUNDED

COUNTY: BUNCOMBE

TIP NO.: N/A

MILES: N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT. **BID BOND IS NOT REQUIRED.** Clearing and Construction Inc. ME OF BIDDER Robbissville, NC. Modrey Orr Bypass 7877/ DDRESS OF BIDDER

Contract Number:	12112200
TIP Number:	N/A
FA Number:	State Funded
WBS Element:	13RE.101115, 13RE.101125, 13RE.101135, 13RE.201115, 13RE.201125
Description:	Long Arm Mowing Upon Request
County:	Buncombe
WBS Element: Description:	13RE.101115, 13RE.101125, 13RE.101135, 13RE.201115, 13RE.201125 Long Arm Mowing Upon Request

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Attenuator - Interstate Routes	101	SMI	\$1,000.00	\$101,000.00
2	SP	Long Arm Mowing with Truck Mounted Attenuator - Divided Primary Routes	100	SMI	\$ 850.00	\$85,000.00
3	SP	Long Arm Mowing - Undivided Primary Routes	230	SMI	\$375.00	\$ 86,250.00
4	SP	Long Arm Mowing - Secondary Routes	825	SMI	\$ 330.00	

тотаl bid for project: <u>\$</u> 544,600.00

Contractor: Ace Cleaning and Cons	fruction Inc.
Address: 389 Ludney Orr Bypass	Robbinsville, NC Z871
Phone: 828-479-4600	Federal Id: 203 475 958
Contractor's License Number: 85940	
Authorized Agent: 60 Collins	Title: Mesident
Signature:	Date: 2-19-24

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: FEBRUARY 21, 2024 AT 2:00 PM

CONTRACT ID: 12112200

WBS ELEMENT NO.: 13RE.101135, 13RE.101115, 13RE.101125, 13RE.201115, 13RE.201125

FEDERAL AID NO.: STATE FUNDED

N/A

COUNTY: BUNCOMBE

TIP NO.: N/A

MILES:

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS	IS A	ROAD	WAY	PROJECT.
	794	13m 122		

BID BOND IS NOT REQUIRED.

DanGrady Company LLC.

NAME OF BIDDER

1517 little savannah rd Sylva NC 28779

Contract Number:	12112200
TIP Number:	N/A
FA Number:	State Funded
WBS Element:	13RE.101115, 13RE.101125, 13RE.101135, 13RE.201115, 13RE.201125
Description:	Long Arm Mowing Upon Request
County:	Buncombe

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Attenuator - Interstate Routes	101	SMI	449.00	45,349.00
2	SP	Long Arm Mowing with Truck Mounted Attenuator - Divided Primary Routes	100	SMI	449.00	44,900.00
3	SP	Long Arm Mowing - Undivided Primary Routes	230	SMI	449.00	103,270.00
4	SP	Long Arm Mowing - Secondary Routes	825	SMI	429.00	353,925.00

TOTAL BID FOR PROJECT: 547,444.00

Contractor: DanGrady Company LLC.

Address: 1517 little savannah rd Sylva No	C 28779	
Phone: 828-506-0112	Federal Id: 85-0824997	
Contractor's License Number: 99645		
Authorized Agent: Noah Saunier		ber
Signature: Not AS	Date:	02/19/2024

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: FEBRUARY 21, 2024 AT 2:00 PM

CONTRACT ID: 12112200

WBS ELEMENT NO.: 13RE.101135, 13RE.101115, 13RE.101125, 13RE.201115, 13RE.201125

FEDERAL AID NO.: STATE FUNDED

COUNTY: BUNCOMBE

TIP NO.: N/A

MILES: N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Atoah Contracting LLC

NAME OF BIDDER

116 Lower Mill Creek Drive, Robbinsville, NC 28771

Contract Number:	12112200
TIP Number:	N/A
FA Number:	State Funded
WBS Element:	13RE.101115, 13RE.101125, 13RE.101135, 13RE.201115, 13RE.201125
Description:	Long Arm Mowing Upon Request
County:	Buncombe

Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
1	SP	Long Arm Mowing with Truck Mounted Attenuator - Interstate Routes	101	SMI	\$450.00	\$45,450.00
2	SP	Long Arm Mowing with Truck Mounted Attenuator - Divided Primary Routes	100	SMI	\$450.00	\$45,000.00
3	SP	Long Arm Mowing - Undivided Primary Routes	230	SMI	\$450.00	\$103,500.00
4	SP	Long Arm Mowing - Secondary Routes	825	SMI	\$450.00	\$371,250.00

TOTAL BID FOR PROJECT: \$565,200.00

Contractor: Atoah Contracting LLC

Address:	116 Lower Mill Creek Drive, Robbinsville, NC 28771					
Phone:	(828)-735-1980	Federal Id:	85-3034804			
Contracto	r's License Number: <u>N</u> /					
Authorize	d Agent: Logan Carver		Title: Owner			
Signature	: Loven lane	V	Date:02/20/2024			
	A la					

ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: FEBRUARY 21, 2024 AT 2:00 PM

CONTRACT ID: 12112200

WBS ELEMENT NO.: 13RE.101135, 13RE.101115, 13RE.101125, 13RE.201115, 13RE.201125

FEDERAL AID NO.: STATE FUNDED

N/A

COUNTY: BUNCOMBE

TIP NO.: N/A

MILES:

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY ROUTES

LOCATION: VARIOUS

TYPE OF WORK: LONG ARM MOWING UPON REQUEST

NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

NAM Thomas Redmond Mowing Inc 2185 Old US 25 Hwy Zirconia, NC 28790

Contract Number:	12112200
TIP Number:	N/A
FA Number:	State Funded
WBS Element:	13RE.101115, 13RE.101125, 13RE.101135, 13RE.201115, 13RE.201125
Description:	Long Arm Mowing Upon Request
County:	Buncombe

2 CD Long Arm Mowing with Truck Mounted	Line No.	Sect	Description	Quantity	Unit	Unit Price	Amount Bid
251Attenuator - Divided Primary Routes100SMI501.3SPLong Arm Mowing - Undivided Primary Routes230SMI475.10925	1	SP		101	SMI	501."	50601.0
Routes 230 SMI 475. 10925	2	SP	Long Arm Mowing with Truck Mounted Attenuator - Divided Primary Routes	100	SMI	501.~	50100.0
4 SP Long Arm Mowing - Secondary Routes 825 SMI 4550 2762	3	SP		230	SMI	475,"	109250.00
1031 3732	4	SP	Long Arm Mowing - Secondary Routes	825	SMI		

TOTAL BID FOR PROJECT: # 585,326, ^w					
Contractor: Thomas Relmond Mowing Inc Address: 2185 Old US 25 Huy Zirconic NC 28780 Phone: P28 667 6299 Education France					
Contractor's License Number: Federal Id:					
Authorized Agent: Dwayne Hill Title: President Signature: Dwayne Hill Date: 2/1/24					